Bid #PNC2117245B1 - Fabricate and Refurbish Lift Station Control Panels

Start Date Aug 6, 2018 11:00:38 AM EDT Awarded Date Not Yet Awarded

PNC2117245B101-01 Base Bid: Furnish above ground duplex, up to 20 HP, 3 Phase 230 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$33,170.00	5 / each	\$165,850.00	Υ	Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

PNC2117245B101-02 Base Bid: Furnish above ground duplex, up to 25 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$32,190.00	1 / each	\$32,190.00	Υ	Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					

PNC2117245B101-03 Base Bid: Furnish above ground duplex, 30-50 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$33,120.00	1 / each	\$33,120.00	Υ	Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

PNC2117245B101-04 Base Bid: Furnish above ground duplex, 60-75 HP, 3 Phase 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$33,120.00	1 / each	\$33,120.00		Υ			
Product Code:	Product Code: Supplier Product Code:							
Agency Notes:	Supplier Notes:							

PNC2117245B101-05 Base Bid: Furnish above ground duplex, 100 HP, 3 Phase 480 VAC							
Supplier	Unit Price Qty/Unit Total Price Attch. Docs						
Champion Controls [Ad]	First Offer - \$33,120.00	1 / each	\$33,120.00		Υ		
Product Code: Supplier Product Code:			ode:				
Agency Notes:		Supplier Notes:					

PNC2117245B101-06 Base Bid: Furnish above ground triplex, 50-75 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$34,200.00	1 / each	\$34,200.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

PNC2117245B101-07 Base Bid: Furnish above ground triplex, 100 HP, 3 Phase 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$35,200.00	1 / each	\$35,200.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:	Supplier Notes:							

PNC2117245B101-08 Base Bid: Furnish above ground triplex for generator 50-75 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$38,500.00	1 / each	\$38,500.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes: Supplier Notes:							

PNC2117245B101-09 Base Bid: Furnish above ground triplex for generator 75-100 HP, 3 Phase 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$38,500.00	1 / each	\$38,500.00		Υ			
Product Code:	Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:						

PNC2117245B101-10 Base Bid: Furnish above ground hexaplex (6 pumps), up to 30 HP, 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$60,100.00	1 / each	\$60,100.00		Υ			
Product Code:	Supplier Product C	ode:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-11 Base Bid: Furnish above ground quaduplex (4 pumps), up to 30 HP, 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$48,600.00	1 / each	\$48,600.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						

PNC2117245B101-12 Base Bid: Furnish above ground Triplex, up to 30 HP, 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$32,200.00	1 / each	\$32,200.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

PNC2117245B101-13 Base Bid: Furnish above ground duplex, up to 30 HP, 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$28,200.00	1 / each	\$28,200.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

PNC2117245B101-14 Base Bid: Furnish above ground triplex ATS panel for generator 300-500 amp, 3 Pole 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$25,500.00	1 / each	\$25,500.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

PNC2117245B101-15 Base Bid: Furnish RTU for Remote Billing Meter Site							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$18,900.00	1 / each	\$18,900.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

PNC2117245B101-16 Base Bid: R& I above ground duplex, up to 20 HP, 3 phase 230 VAC							
Unit Price	Qty/Unit	Total Price	Attch.	Docs			
First Offer - \$15,300.00	3 / each	\$45,900.00		Υ			
	Supplier Product Code:						
	Supplier Notes:						
	Unit Price First Offer - \$15,300.00	Unit Price Qty/Unit First Offer - \$15,300.00 3 / each	Unit Price Qty/Unit Total Price First Offer - \$15,300.00 3 / each \$45,900.00 Supplier Product Code:	Unit Price Qty/Unit Total Price Attch. First Offer - \$15,300.00 3 / each \$45,900.00 Supplier Product Code:			

PNC2117245B101-17 Base Bid: R&I above ground duplex, up to 25 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$14,500.00	1 / each	\$14,500.00		Υ		
Product Code:		Supplier Product C	ode:				

PNC2117245B101-18 Base Bid: R&I above ground duplex, 30-50 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$16,600.00	1 / each	\$16,600.00		Υ		
Product Code:	Supplier Product C	ode:					
Agency Notes:		Supplier Notes:					

PNC2117245B101-19 Base Bid: R&I above ground duplex, 60-75 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$17,900.00	1 / each	\$17,900.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PNC2117245B101-20 Base Bid: R&I above ground duplex, 100 HP, 3 Phase 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$21,300.00	1 / each	\$21,300.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-21 Base Bid: R&I above ground triplex, 50-75 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$18,000.00	1 / each	\$18,000.00		Υ		
Product Code:	Supplier Product Code:						
		Supplier Notes:					

PNC2117245B101-22 Base Bid: R&I above ground triplex pump, 100 HP, 3 Phase 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$23,800.00	1 / each	\$23,800.00		Υ		
Product Code:	Supplier Product C	ode:					
		Supplier Notes:					

PNC2117245B101-23 Base Bid: R&I above ground triplex for generator 50-75 HP, 3 Phase 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$24,500.00	1 / each	\$24,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-24 Base Bid: R&I above ground triplex pump for generator 75-100 HP, 3 Phase 480 VAC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$24,500.00	1 / each	\$24,500.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

PNC2117245B101-25 Base Bid: R&I above ground hexaplex, 480 V, 30 HP						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Champion Controls [Ad]	First Offer - \$36,000.00	1 / each	\$36,000.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				

PNC2117245B101-26 Base Bid: R&I above ground quadruplex, 480 V, 30 HP						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Champion Controls [Ad]	First Offer - \$28,800.00	1 / each	\$28,800.00		Υ	
Product Code:		Supplier Product Code:				

Agency Notes:	Supplier Notes:
	la u au .

PNC2117245B101-27 Base Bid: R&I above ground triplex, 480 V, 30 HP							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$21,600.00	1 / each	\$21,600.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

PNC2117245B101-28 Base Bid: R&I above ground duplex, 480 V, 30 HP						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Champion Controls [Ad]	First Offer - \$19,200.00	1 / each	\$19,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2117245B101-29 Base Bid: R&I above ground triplex ATS panel with generator 300-500 amp, 480 VAC							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$29,500.00	1 / each	\$29,500.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

PNC2117245B101-30 Base Bid: R&I RTU for billing metter							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$17,500.00	1 / each	\$17,500.00		Υ		
Product Code:	Supplier Product Code:						
		Supplier Notes:					

PNC2117245B101-31 Base Bid: F&I sunshields for Hexaplex control panel							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

PNC2117245B101-32 Base Bid: F&I sunshields for Quadruplex control panel							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:	Notes: Supplier Notes:						

PNC2117245B101-33 Base Bid: F&I sunshields for Triplex control panel							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ		
Product Code:	Supplier Product Code:						
		Supplier Notes:					

PNC2117245B101-34 Base Bid: F&I sunshields for Duplex control panel							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$1,200.00	1 / each	\$1,200.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

PNC2117245B101-35 Base Bid: Furnish Connection/Isolation Panel for Triplex Lift Station							
Supplier	Unit Price Qty/Unit Total Price Attch.						
Champion Controls [Ad]	First Offer - \$3,500.00	1 / each	\$3,500.00		Y		
Product Code:		Supplier Product C	ode:				

PNC2117245B101-36 Base Bid: Furnish Connection/Isolation Panel for Duplex Lift Station								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ			
Product Code:	Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:						

PNC2117245B101-37 Base Bid: F&I 25 Foot Antenna Mast							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PNC2117245B101-38 Base Bid: F&I Electrical Wire (from 8 to 12 AWG)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$9.57	100 / linear foot	\$957.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

PNC2117245B101-39 Base Bid: F&I Electrical Wire (from 3 to 6 AWG)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$11.625	50 / linear foot	\$581.25		Υ			
Product Code:		Supplier Product Co	****					
Agency Notes:		Supplier Notes:						

PNC2117245B101-40 Base Bid: F&I Electrical Wire (1 AWG)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$18.00	50 / linear foot	\$900.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-41 Base Bid: F&I Electrical Wire (2/0 AWG)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$20.625	50 / linear foot	\$1,031.25		Υ		
Product Code:		Supplier Product Co	· · · · · · · · · · · · · · · · · · ·				
Agency Notes:		Supplier Notes:					

PNC2117245B101-42 Base Bid: F&I Electrical Wire (4/0 AWG)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$22.50	50 / linear foot	\$1,125.00		Υ			
Product Code:		Supplier Product Co						
Agency Notes:		Supplier Notes:						

PNC2117245B101-43 Base Bid: F&I Electrical Wire (from 250 KCM to 350 KCM AWG)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$26.25	50 / linear foot	\$1,312.50		Υ			
Product Code:		Supplier Product Co	upplier Product Code:					
Agency Notes:		Supplier Notes:						

PNC2117245B101-44 Base Bid: F&I Electrical Wire (500 KCM AWG)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$30.00	50 / linear foot	\$1,500.00		Υ			
Product Code:		Supplier Product Co	ode:					

PNC2117245B101-45 Base Bid: F&I Electrical Conduit (1 inch Aluminum)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$28.125	50 / linear foot	\$1,406.25		Υ			
Product Code:		Supplier Product Co	oduct Code:					
Agency Notes:		Supplier Notes:						

PNC2117245B101-46 Base Bid: F&I Electrical Conduit (2 inch Aluminum)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$37.50	20 / linear foot	\$750.00		Υ		
Product Code:		Supplier Product Co					
Agency Notes:		Supplier Notes:					

PNC2117245B101-47 Base Bid: F&I Electrical Conduit (3 inch Aluminum)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Champion Controls [Ad]	First Offer - \$84.375	50 / linear foot	\$4,218.75		Υ		
Product Code:		Supplier Product Co	* ,				
Agency Notes:		Supplier Notes:					

PNC2117245B101-48 Base Bid: F&I Electrical Conduit (4 inch Aluminum)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$97.50	50 / linear foot	\$4,875.00		Υ			
Product Code:	uct Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:						

PNC2117245B101-49 Base Bid: F&I Electrical Conduit (1 inch PVC)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$28.125	50 / linear foot	\$1,406.25		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-50 Base Bid: F&I Electrical Conduit (2 inch PVC)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$36.00	50 / linear foot	\$1,800.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PNC2117245B101-51 Base Bid: F&I Electrical Conduit (3 inch PVC)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$48.00	50 / linear foot	\$2,400.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PNC2117245B101-52 Base Bid: F&I Concrete slab								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$337.50	10 / square yard	\$3,375.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-53 Base Bid: F&I Soc	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Champion Controls [Ad]	First Offer - \$4.50	30 / square foot	\$135.00		Υ
Product Code:		Supplier Product Co	ode:		

PNC2117245B101-54 Base Bid: SCADA Programmer/Troubleshooter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$125.00	90 / hour	\$11,250.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-55 Base Bid: Staff Engineer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$110.00	50 / hour	\$5,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes: Supplier Notes:								

PNC2117245B101-56 Base Bid: PLC Programmer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$95.00	90 / hour	\$8,550.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:								

PNC2117245B101-57 Base Bid: AUTOCAD Designer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$80.00	50 / hour	\$4,000.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

PNC2117245B101-58 Base Bid: Fabricator/Wire Technician								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$75.00	90 / hour	\$6,750.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

PNC2117245B101-59 Base Bid: Labor Rate - Standard Business Hours								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Champion Controls [Ad]	First Offer - \$125.00	120 / hour	\$15,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2117245B101-60 Base Bid: Labor Rate - Non-Standard Business Hours						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Champion Controls [Ad]	First Offer - \$150.00	50 / hour	\$7,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2117245B101-61 Base Bid: Labor Rate - Hourly shop rate						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Champion Controls [Ad]	First Offer - \$75.00	200 / hour	\$15,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2117245B101-62 Base Bid: Labor Rate - Emergency						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Champion Controls [Ad]	First Offer - \$225.00	50 / hour	\$11,250.00		Υ	
Product Code:		Supplier Product Code:				

	County Commissioners		Page 8 of 8	
Agency Notes:		Supplier Notes:	_	
Supplier Tota	ls			
f Champion	Controls [Ad]	\$1,145,173.25 (62/62 items	s)	
Bid Contact	Garfield Monfries	Address 811 NW 57 PL		
	marcel@championcontrols.com Ph 954-318-3090 Fax 954-318-3091	Fort Lauderdale, FL 33309		
Qualifications	DBE MBE SB WBE			
Agency Notes	s:	Supplier Notes:	Head Attch: ป	
Bid Allowance			\$22,000.0	